FINAL ANSWER KEY : REVIEWED QUESTIONS:- 68, 79, 98, 123, 159, 171, 174, 182, 196
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1. &pésa cursSwnisamer seaue
oMl (A): @hHW SITHWILMLOLILNGIT (P&HEYHT QHHUI GlqWTE6T CHITSHSMIGEn 6N
QUEMTUIMI &6 H)
snreud (R): @& QhHi SFFmLOLILINGT 26aSSHTGLD €2 (1H &FHHSNTLOMEI HITL 6L
2_(HUTHGUSNHGLD Cogid ,HF &SHATLD , FGHHIOID WMHMID FCETHTHSGHIOILD HeneomTL L
2 56 &Ms)
&CLp @MU Been GmIuiLig.60 Fflwimen eNenLenuwis CoHIHCS0H
A. (A) bpmid (R) @resaird &ifl Cosyid (R) etetugy (A) @6 &fluimes eNenésLd.
B. (A) mmmid (R) @peu@d &ifl Cogyid (R) stetug (A) @ &flimes elenésLoe060
C. (A) &ifl syeommed (R) seumy
D. (A) s6eumi, syeommed (R)&f

Consider the following statements:-

Assertion (A): the preamble of Indian constitution defines the objectives of the republic

Reason (R): it embodies the spirit of the constitution the determination of the Indian people to
build up a new and independent nation which will ensure the triumph of justice Liberty equality
and fraternity

Now select your answer according to the coding schemes given below

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of (A)

C. (A) is true but (R) is false

D (A) is false but (R) is true

2. 'Qur@emsny BH' Q& SHHW SipFLINHT @ CHTSHELNS sTeuhiicd AasT@SSLUILL (HeTongl
A SIT&AILIELEMLDLILNGDT (L &6 6 DMHMID i LILIENL. 2_[flénLDS6IT
B. sip&flweusmiolinedt (&6 sn MmMID SiJ& Q&MeTenssHamen eULfSTL L. CIbMI&eT
C. siigliuemL 2 [lenLgeT MMID & C&T6TenSSHSHM6s eULNSTL g QBOIGe
D. @aummiev ¢1g16LH6Lm60

Economic Justice as one of the objectives of the Indian constitution has been provided in
A. The preamble and the fundamental rights

B. The preamble and the directive principles of State policy

C The fundamental rights and the directive principles of State policy

D. None of this
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3. 8pésauL eursSILnISEmET Seue
1. &SMTLSUTNnINL I 2 6TOI6MLOLITEN &&GIOULD ,31H60T L& 2 [flennenit LKTHE)
QBTEITEUS6L SIT6IT 2_6TT6NG)
2. 315 F6pS UGLLUSEHHG QenL G (PIesurLm(h&elT JDLIL ML (565 2 &6US MG
3. hmevs s ATHILIEL Getteminenl 2 MIHLILGES HeLEV QULNISTLIGUITS QIHSHMDS).
&GLp @OILLIL (Beter GmluiLg.60 Fflwimer eNenLenuwis CoHIHCS0H
A.1 L @w & B. 1 womibd 2 Qrewoi(d &1l
C.1,2womib 3 epetmibd &ifl D.1,2wmmibd 3 epermibd Seuml

Consider the following statements

1. Power sharing is very spirit of democracy

2. It helps to reduce the possibility of conflicts between social groups
3. It is a good way to ensure the stability of political order

now select your answer according to the coding scheme given below:
A. 1 alone is correct B. 1 and 2 are correct

C. 1,2 and 3 are correct D. 1,2 and 3 are wrong

4. Nereumeaussaumenm SmSH60 QAsmens
gamml (A): QLELEEG (W(pemwimer HsHANGHTIW SibHavg eUDRISLILL ONELEmED
snreud(R): @HEWITEIN6T §neLBHSILONG CIL 6060l NENMIGEUSTED 3G HMLIL SihF e v&len6urLl
QuOM)6TETS)
A. (A) bpmid (R) @rsto@d &ifl Coaitd (R) etsttug (A) @6t sfluimsr eNlensdsi.
B. (A) mmmid (R) @psiu@d &ifl Cogyitd (R) et6ttugy (A) @6t siflwimest eenssL06060
C. (A) &Ml syeumed (R) seumy
D. (A) sumi, apemmed (R)a

Assertion (A): Delhi has not been accorded the status of a full state
Reason (R): being capital of India,it occupies a special status

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of (A)
C. (A) is true but (R) is false

D (A) is false but (R) is true

S. g WG QibH spFmmisd Qeuelpr( eump QiHwjserssrs L.M SAnel
SMOMLOUTCONET L WITLOL L G 2 (HeursSgi
A. QauLbug 1997 B. QgL 1buy 1998 C. QauLbuy 1999 D. QguLbui 2000

The Government of India had set up a High Level committee on the Indian Diaspora under the
chairmanship of L.M Singhvi on
A. September 1997 B. September 1998 C. September 1999 D September 2000

Ot s QG gk EEMITEUIN §mEEEELEmSamI
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6. Netreu(phLd eUTSHLINRISOT SH6UaNSHs
1. @@ WCFTHT L& (PTTITLL L &([HSHHSH6T Q) ([HSGSCLOUITETTED, HITLTEHLO6ITMD ,L0&S6T6meN
LMHMILD MHevmisenenel @rauGLd Fal (B HLOTENET CLHEVLD SF6&T6u HTEILICVEMLOLIL| 616N
QEWIGl6Teng)
2. mhlevmieNest FLL LD6TM&SH6L QI6ini(h HeMeUSEFHES QenL Gl 6p(1h LCETHT GMIH S
PUEIULL &[5 @ (h&GCLOIITEITEL iGm6nT Smerl Fal (H SILDTESST6mI alLH6ImES
6THEMETTUILD SITHUICLEMLOLIL] QILPHISETIEV6M6V
A. @eioi(h euTSHWIMISEHGLD FflulmesTened
B. eur&Sluiid 1 Fflmenigl S 61med eumSEILILD 2 HeUmTesIS)
C. aums&WID 1 HeummengH| <y,681MeL UMSEUILD 2 SIS
D. @6 sumSHWMISEHELD &6UMIT6TT6mnedl

Consider the following statement

1. In case of dispute ,over a bill the constitution provides for a joint sitting of the Lok Sabha
and Rajya Sabha for solving the dispute.

2. There is no constitutional provision like Joint Sitting of the State Assembly and the state
council if there is a dispute between them over a bill

A. Both the statements are correct

B. Statement 1 is correct but statement 2 is incorrect

C. Statement 1 is incorrect but statement 2 is correct

D. Both the statements are incorrect

7. Neremnj sifidenseniul Lflfcoener QLS.
QHHW Gl Wwrs Mool CEIHES(HESEHFalq Ll UTSSTE] & (LPLOLD CISHT6TuTg (h&GLD
2_MILIN6UTT &6
1. urgm@pL6TM QB Seneluied 2 eren CHIHES(HHSHLLLL 2 mILILTN6TTH6r
2. CeIHOS(HSHSLILLL L &L 2 mILILTN6oTy&el
3. 660l MMILD Limewwng FCE ulesfiliesn NITCHEF FLLgemu UL 2 eten CHIHES(HHSLILIL L
2_MILIN6T &6
&GLp QarhssUuL (et GMuiksement LWETL(GSS FHlwimeT uHenevd CoIHES(HSE6LD
A. 1wl (b B 2 wmmid 3 C. 2 boHmib 1 D. 1,2 mmmib 3

Consider the following statements

The President of India is elected by the members of electoral college consisting of

1. The elected members of both the house of the parliament

2. The elected members of the legislative

3. The elected members of the legislative assemblies of the union territories of Delhi and
Pondicherry

Select the correct answer using the codes given below

A.10Only B.2And 3 C.2And1 D. 1,2And 3

Ot s QG gk EEMITEUIN §mEEEELEmSamI
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8. SipéaauL. unsSnseiled seuprareubenms CHIHOSEG:
1. NyHLOIT BT 1607 SHTEF6TT SH6MLDLIL| H6MEVOUTTSHELD REOTTHILIS) HITL 1g 60T [HIJEUTS
FHEMELAUNTEHELD ClFUIELLIH S 6STM6DIIT
2. oip&lieemdLILT6sT LUMGISTeueLTs HHSHImMm Nenhi@GHME)
3. wnhlevmisefed o eitem 2wl FHLOTMMRIGET LOMHEL HFH6HT SHL(HLLIMLIG60 2 66N g).
&GLp QarhssUuL (Berar GMluiksement LWTLGSS FHlwimeT LHenevd CaIHES(HSE6 LD
Alwl@b2 B2wppgw3 C.lwpmb3 D12 womib 3
Select the false statement from the following
1. Prime minister is the head of state and The President is the Head of government
2. Judiciary is the guardian of Indian constitution
3. High courts in States comes under the jurisdiction of State government
Select the correct answer using the codes given below
A.10nly?2 B.2 And 3 C.1And3 D.1,2And 3

9. QUIBSHZS:
a.grg anflin. 1. sieusy g

b @BATT SMHE. 2. DI Y JMLIEE DLOWILD

c.o.l9. & 3. smeioLfiy

d.Cg. umum. 4. LDETIIL 6D Sy, 6M6TOTLLILD
@. (b). (). (d)

A. 1 3 4 2

B. 1 3 2 4

C. 3 1 2 4

D. 3 1 4 2

Match the following
a. Raja Hari Singh 1. Emergency rule

b. Indira Gandhi. 2. Atomic research centre

c. V.P. Singh. 3. Kashmir

d.J. Baba. 4. Mandal commission
(@. (b). (). (d)

A 1 3 4 2

B. 1 3 2 4

C. 3 1 2 4

D. 3 1 4 2

10. umymEsLTDSEH Hmeoemid H&ETH Q@ mausameanr b CuEHISHS
SIYIDHSSILGTDET QLOTLNSET Wimeneu?
A. afih& HMILD gy hi&evLDd B. afh& wLGLd
C. aMhé), g méeold wHMID st Qmhl  D. gymiéleond L GG

Ot s QG gk EEMITEUIN §mEEEELEmSamI
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The presiding officers of both the House of parliament allows the members to speak in
A. Hindi and English B. Hindi only
C. Hindi English and Mother Tongue D. English only
11. emh® #7531 Lig @edlliLSe| FMLOTSES QsTeTaTeond seiiml - && FHermOd SiLiLeNsss).
A. Article 144 B. Article 141 C. Article 142. D. Article 143
As per which article of the constitution, Supreme Court has ruled that a judicial magistrate has
power to direct accused to give voice samples?
A. Article 144 B. Article 141 C. Article 142. D. Article 143
12. GSLV I pn&@s. @Hi$s Meiraumeuaraubiied sflwnarensd CHinesHssa b,
1.ISRO gwmflésiul L epsiim) henevgeT Q&Teiui. Si&)s eTenL_LeTam Q& Wmens:&Camenern
aleuemnned CF$HS (PlgU|Lb.
2. @&6t1 euigeusmoLIL] 10 L6t sTemL w6t QFILMHENSHSCHTMENILILD GenDHS Lo &hHmieul L LI
UTen&uieL Hlemev HMISS (LPIgU]LD eUMSBUNCD 2 6TTerG).
3.Qbh5 eUTMIH HRISWITET SILL MG LILIGTLIL 2 6T6rg).
A l7?2 B.1,3 C.2,3 D. 1,23
Consider the following statements regarding Geosynchronous Satellite Launch Vehicle Mark
1 (GSLV-III).
1. GSLV MK Il is a three-stage heavy lift launch vehicle developed by ISRO.
2. It is designed to carry 10 tons of satellites to Low Earth Orbit (LEO).
3. The GSLV Mk 111 will be the launch vehicle for Gaganyaan.
Which of the above statements is/are correct?
A1l 2 B.1,3 C.2,3 D.1,2,3
13. Newreumeucteumenm &mSH60 QAsmau® Leusit GMSS FRwmareumenm CHiHAS B ESLD.
1. yeNullest GComurliy GM$s @b LFILDmesT / ¢LLI LIFIEEITLD &&6U60&HN6T S4IMILI LMHMILD
NrHHSssIab UGSS 2-&eHmS.
2. Guaid yeusedr gilwmer CrysHed GUFIL T L L Caemeus@ euLfleusns QFwIHmG).
3. Qg 2 (HeuTsHSHW enLoLi QeroCrr.
A1l 2 B.1,3 C.2,3 D. 1,23
Consider the following statements about Bhuvan, a web mapping service.
1. It allows users to explore a 2D/3D representation of the surface of the Earth.
2. Bhuvan also provides timely disaster support services.
3. It is developed by ISRO.
Which of the above statements is/are correct?
A1l 2 B.1,3 C.2,3 D. 1,23
515 5¥s mevn DRI &I G el miD) agh @EmHEUD §aE@EELmIEI
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14. eto0&L_Gpmerv&eir QGmLijumeet LeiTeu(pHLD SNEHM6NS SEUGTIW|MISEIT.

15.

1. e1Qeu&L_Cymerv&len 6TesTLIG C&HTeNL Q(BHE SWITHSHSLILHLD GCrméur.

2. 61008 L_Cmerv 6ot 616oTLIG| CILDsTTemLOILITE CITGUTS&emen CHITGHSIL 62(1h (LD SHSIUILDIT6OT
LIgWIT@GLD, Slemed eTaflfled Q& meuni(h ClFeLeVLILIL 6VMD, LuleTL(R&SLILL 60MLD HMILD
SI6TUTIUIEVITLD.

3. urguflw CErGUTS &6 &lq.60TLDMEsTsneY LOMHMILD Q6TISHSLOMMENEL 6TETMTEVILD, CILDESTEMLOLLITEIT
GrrGuré&et @ewisaLnmearsnel, GLOgID &LPV&ELHG JhLSimel HL L b SpLLaID (LplgujLD.
CLM&EHIL FaMHMISETle 618 Filulmesg)?

Al?2 B.1,3 C.23 D.1,2,3

Consider the following statements regarding ElectroSkin.

1. ElectroSkin is a robot made from the skin.

2. ElectroSkin is an important step toward soft robots that can be easily transported, deployed
and even worn.

3. While traditional robots are rigid and incompliant, soft robots are compliant and can stretch
and twist

to adapt to their environments.

Which of the above statements is/are correct?

Al 2 B.1,3 C.23 D. 1,23

5G @Mss Neraupeusreumhmicd FHlwmrsiens C5ihASH &S]

1. 5 eugl semev(pemm ClFeLEYI6LMT CIGMLHICLMILLILD 6T6TLIGI LHG6LD CeusLDMTest DMHMILD
BLOLI&SS S 60T60LD QUMLHE &§&H6U6D CGML L] (LPMMUIL 65T 3H& SMTOGLD HHLNE Folg Ui HGLD.
2. BLOG QHHIW T8 (P6iTFal lqul Seor(Rilig Ll LMHMID SIMIFHES 3 U@L SILL LD
QEweLL(GHHHMEI.

3.5 eugl meu(pemm CFLEIGVIT QHTLHGLHIL LD HEDL (LPNMEHE (LD ChsHSH 60
SlMETU(HLD HMRIGET HHCUTE| LleTLGSSHID n&LGCUF e LTHMLD CFwIL GColsu(hLD.
Al2 B.1,3 C.23 D.1,2,3

Consider the following statements regarding 5G Technology.

1. 5G is the next generation cellular technology that will provide faster and more reliable
communication with high latency.

2. The Indian government has launched a three-year programme to advance innovation and
research in 5G.

3. Once 5G becomes commercial, users will be required to change their current devices in
favour of 5Genabled ones.

Which of the above statements is/are correct?

Al 2 B.1,3 C.23 D.1,2,3
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16. Qi &mi R 26b60G) euTEPLd Couly LTEOMISET (PSBWILDTS (TG SANEITIG.SSILLL S,
A. sigmb B. prseonmhs) C.oeueniiL iy D.Gusmeowir
Jing kieng jri or living root bridges are predominantly found in
A. Assam B.Nagaland C.Manipur D. Meghalaya
17. DIGI YATRA &MH$5 Meirau(meuseummied sflwnarensg CaibhesHéEsa L.
A. @ibg QLeTQLIT(H 6T LiwletTL(h$ S LIWiesTTen&en Qb (HEh&FTemeL S FOLBHSLILL L FH&H6L6D
LOMIL aNUGHGI, QBB ERFTEmeLUNCD 2 66T LI6TaThIST GNIHSH MNGHMS SIsHILILIVMLD.
B.@hg QusQumber LwleitL(h &S Liulestmenysen Fasttag eummigs @uigyib.
C.Qhg QsQum(heT LGCWTQLL & (Wemmenwd &Mihe 1gHIL L 60 QFUIOTSHS (LPenmuiled
eflme Heneowlmigeiled LGN &enend ensulmell LwleLGEMEI.
D.Cumaamiu sTgie|D @evemev.
With reference to Digi Yatra, which of the following statement is correct?
A. A mobile application where user can enter road quality-related information and to report any
accident or pothole on highway.
B.A mobile application where users can purchase FASTag tag.
C.Biometric based digital processing of passengers at airports.
D. None of the above
18. @iHwraled Gefij SNV LOGITL VLD 6TRIG 2-6iTeng) sTenr CHIHASHE&ELD.
1. emiflwimeotm 2. QIS 3. wHHwW NCHFLD 4. n&my 5. UEp&ML
Al 23 B.1,4,5 Cl23,4 D.1,2,3,4,5
India’s cold wave zone covers which of the following states.
1. Haryana 2. Gujarat 3. Madhya Pradesh 4. Bihar 5. Punjab
Select the correct answer code:
Al 23 B.1,4,5 Cl,23,4 D.1,2,3,4,5
19. Meraumeausraihmied Q&6 LyHMID QUL T MiseT GencwiLi UHHiL HEaiedSamed
sflunerensd CHIHASHSSaILD.
1. @& BIL 19601 (LPH6L HSHH6T QemeuuiLiL] HL_L LD Y GLD.
2. Q&61 LOMHMID QULUT Y MIG6T LGS LNTCHEFHS6L 2 MUSHUITE WI(Lp6m6aTuIledT Hlemer
SBMISET HGLD.
3. Q&60T QM| LIGHTEUTT L|eOI&6T SHMLILS LGS euldluing CFe0&ma).
Al 2 B.1,2,3 C.23 D. 3 only
Consider the following statements regarding Ken-Betwa river interlinking project.
1. It will be the country’s first river interlinking project.
2. Ken and Betwa rivers originate in Madhya Pradesh and are the tributaries of Yamuna River.
515 5¥s mevn DRI &I G el miD) agh @EmHEUD §aE@EELmIEI
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3. Ken River passes through Panna tiger reserve.
Which of the above statements is/are correct?

A l7?2 B.1,2,3 C.23 D.3 only
20. MbevOL S GMGS Nsireu(meuaraumiied sfwraramns CHibASHH SSaLDh
1.1 NDerVEIL & 6T60TLIG) SHEMIGWIMT MHMILD eURISTT NFGLIT H([EHH6L 2_6iten 7 BT(h&6T CFHS
ol _L_60LOLIL].
2. & URSTE LNFSL 6D cLpeVLD QI&Mesu(h eUTLILIL L §).
3. @5601 HMELEMDILIGHLD LTEHS - UMIS CHFHH6L 2_6iTeng.
4. NbevCL & 4 eugl 2 &8 IBTH CrUTET HmeLBsT STsLman(halled 2018 BLHGHI (DG HEHSI.
A2 4 B.1,3 C.1,23,4 D.2,3,4
Consider the following statements about Bay of Bengal Initiative for Multi-Sectoral Technical
and Economic Cooperation (BIMSTEC).
1. It comprises of Seven Member States lying in the littoral and adjacent areas of the Bay of
Bengal.
2. It came into being through the Bangkok Declaration.
3. It is headquartered in Dhaka , Bangladesh.
4. In 2018, the 4th BIMSTEC Summit concluded in Kathmandu
Which of the above statements is/are correct?
A2, 4 B.1,3 C.1,23,4 D.2,3,4
21. A estrueuiy e Ceuemevenwl 45 peitsefed (pigLiLmy.sieuj 15 prensEndd L GG Coumev
Qzwgmy. DG B gyereu 1B510@mHS Cousmeoenil 24 pretaaficd (Liq&HSm. SEbeumLd
Denemig Causneo QFELISTEL SihH CeusmeouNeir 80% (Pia&5 Y GLD CHILD eTedtTenr?
A. 8 B &6l B. 6 BTL_&ei C. 12 prLsen D. 16 mprLsen
A can do a work in45 days. He works at it for 15 days and then, B alone finishes the remaining
work in 24 days. Find the time taken to complete 80% of the work if they work together.
A. 8 days B. 6 days C. 12 days D. 16 days
22. qpenmi oassT 49, 46, 48 MO mser HenL_Qauafulied ASTL (IS e0&HMFI.LpeTmI
LaNsEHD 9 a.m @ C&y AFMLIHE 5606GCWaN0 iHG CHIHMS HTRS..
A.10 am B.11a.m C.12am D.10.30 a.m
Three bells are ringing continuously at intervals of 49, 56, 48 minutes respectively.at what time
wilk they ring together again of they ring simultaneously at 9 a.m?
A.10am B.11 a.m C.12a.m D.10.30 a.m
23. A p.6000 sal_ (b QUL lq (1563® QEWIADTY. (SO 46T ed 4%, GpavLmb Yau@ 5%,
epepmb @ 10% auligujb Henl&@Lb stafed, HmiHuNed A QUL AHTNs?
A.7300 B.7007.2 C.7200 D.7207.2
Ous e QG * agh @EmHEUD §aE@EELmIEI
VUi Rs T GITIO] 5 @8 SI0LURNLOE Ry)
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24.

25.

26.

217.

28.

A invests Rs.6000 in compound interest.and get 4%interest in first year, 5% interest in second
year, 10% interest in third year.what is the amount received by A ath the end of years?
A.7300 B.7007.2 C.7200 D.7207.2

A etevrueuiy ¢m.11.50 eleneowjsiter Gamgienio 30kg, ¢m.14.25 aflemeowjesiter Gangienio 20kg
ceunmiSeormiy.Neiry QrevrenLwb seohg eNHOEL 30% eomud iMLHST) 6Tafled @@ HGeom
Cangienid eNhHmeilaneo?

A.14.80 B.15.40 C.16.60 D.16.38

A buys 30kg of wheat at Rs.11.50 and 20kg of wheat at Rs.14.25.1f a profit of 30% of the mix
of both were sold, what is the cost of selling one kilo of wheat?

A.14.80 B.15.40 C.16.60 D.16.38
@ FMUSHITD @@ LSS aTe] 20cm, @@ CpancalilLLb Batb 24cm, Sig6ir LFLiLaTe|?
A.324 B.364 C.394 D.384

A Rhombus one side size 20cm, a diagonal length 24cm, area is?
A.324 B.364 C.394 D.384

¢5.1870 A, B, C epauré@Ld B Qupicudied 2/3 unufiener A-1b, C QupieuHied 1/4 urifenes B-
b QuU(BLD U6 LNFIGSmed. B-6ir LINIG cTedTeur?
A.210 B.240 C.330 D.360

If Rs.1870be divided among, A, B,C in such a way that A gets 2/3 of B, what B gets and B gets
1/4 of What C gets, then the share of B is?
A.210 B.240 C.330 D.360

2 gy g6t 3 QURTITSET (1 Coumevenil 10BMsefed QFIaNy.3 YARTS6T 2 QLRSI UCH
CeausneoeniLl 8 HIL_&afled QFUIAITT.2 Y auS6T 1 QLG iHS Ceueney THHne HTL_Safed
Q& lieumy?

A.12 % B.10 % C8% D.8

2 men and 3 women can do a work in10 days, 3 men and 2 women can do work in 8 days how
many days will 2 men and 1 women take do the same work?

A.12 % B.10 ¥ C8% D.8

@ (5 LomeuwTeNeT spelQeum(m Fflwirer Sije s@Ld Q@ Soumner e AL SGLD 6] 48 Hav15HGE
WHASSTed Feuprer e e155mev?

A.16 B.24 C.32 D.30

A student got twice as many sums wrong as he got right. If he attempt 48 sums im all how
many did he solve wrongly?
A.16 B.24 C.32 D.30

OE S QaiBaImH epth GEIHHEURD §w@EEMHIEIRD
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29. em. 7000 @@ UGH 6% Heheul g, BH 4% Feafaul iy, sTHHmenn g cuHEaM6d UL lg. ¢,

160086nL_&@LD...oHMID 6% QSTRESSLILLL. QAFTens cTesTeon?
A. 5, 3000 B. 6, 3000 C. 5, 2000 D. 6, 2000

The one part of the sum Rs. 7000 is lend at 6% interest and others at 4% interest. After which
year, total interest earned is Rs.1600.what is the amount lend for 6% interest?

A. 5, 3000 B. 6, 3000 C. 5, 2000 D. 6, 2000
30. @@ Quiqulieb 4 Aeulily, SBevld, 6 LEME LIHSISET 2_6Termser, G5 LibSIS6T FLOaUMILIL
Wweapuled CaiHASHSSLUGSsITDET. SleubHiieh erml Beold, @erml LFME D ([H56 NELDHEH6|?
A. 5*6/15*14 B. 5%6*2/15*14 C. 4*5/15*14 D. 4*5*2/14*15
A box contains 4 red 5 blue 6 green blls of identical size. Two balls are drawn at random. The
probability that one is blue amd the other is green?
A. 5*6/15*14 B. 5*6*2/15*14 C. 4*5/15*14 D. 4*5*2/14*15
31. QOamqCsT H6V&LD LG LTL& HmLQUDD QIBLLD?
A.1859-1860 B.1859-1861 C.1859-1862 D. 1859 - 1863
Year of the Indigo Rebellion or Revolution?
A.1859-1860 B.1859-1861 C.1859-1862 D. 1859 - 1863
32. seauijemy Qgemedlsi g,CeonFemen GPailed (PG FLL 2 DILNETS KIS UG wmy?
A. leosi (1834 - 1838( B. ifetr &m&y umed(1834-1838)
C. Qu&amGeo(1834-1838( D. Cmp(1834-1838)
Who was the first member of the Governor General's Advisory Council?
A. William Bentinck (1834 - 1838) B. Sir.jeroge Barley (1834-1838)
C. Macaulay (1834-1838) D. Lord.karan valies (1834-1838)
33. Qur®5H3IS
1. @hHw usHN&Eems UL b - 1904
2. QUTEI&HFal L MiGeT &LLID - 1908
3. QeuqLo(BHH&l FLL LD - 1907
4. UL&MELEHSHLPS FL_L LD - 1910
A.1234 B.3241 C.4231 D. 4321
Match the following
1. Indian Press Act - 1904
2. Public Meetings Act - 1908
3. Ammunition Act - 1907
4. University Law - 1910
A.1234 B.3241 C.4231 D. 4321
OuEE srath QErEaID % mpih GEITEUIT §eamEELmIGamD
VUi Rs T GITIO] 5 @8 SI0LURNLOE Ry)




[ e

PR o P sevad
ZiSon assaisd
34. geupner QUT(HS5HHMS S6Au(HLNg S5 LD.
A. gL & (6196001 LO6Q 60T - &eumLhl eNCeusTETHS T
B. Qybw Fwmgb - gy GLOT&6oTITmL
C. o4flw FLOTYLD - GCag6u FHE Qg6
D. Dy @pmest FemL - S|6oT60TIGILIF 60TL

35.

36.

Find the wrong fit.

A. Ramakrishna Mission - Swami Vivekananda
B. Brahma Samaj - Rajaram Mohanrai
C. Arya Samaj - Kesava Chandra Sen
D. Theosophical society - Annie besant
sflwrer Qencienill CHIHAS®.

A. &8 Lerey - 1906

B. (perveditb 656 CHmmmLD - 1907

C. e0&Cerm epLiLhHGLD - 1917

D. &eomug Quissid - 1919

Select the right pair.

A. Surat split - 1906

B. Origins of the Muslim League - 1907

C. Lucknow pact - 1917

D. Khilafat Movement - 1919
SaHMISMNET QYTMLIS.

Famml 1: 1922 gu1b gyemi(h NUFaIfl 5 guib BT 2 GHTNTCHFHSH L CFenyl Qaenym (CHTSHLLIT)
6T60TEMID @)L FHH6L SuiFLd eNeugmuisen URIGCHEHM Cuewi HenL CLUMME).

oMl 2 ;. Q&6 HMPEILLTS SMHSHIUIG ST S SHIMIPITEND QUISHSESHMS BMISSH Q&ML ITI].
A. sampmi 1 &1, 2 seumi B. sammi 1&6umy, 2 &l

C.samm 1, 2 &1 D. gammi 1,2 geum

Examine the statements.

Statement 1: On February 5, 1922, a thousand farmers participated in a rally in Uttar Pradesh
at Chauri Chaura (Gorakhpur).

Statement 2: Because of this the Gandhians stopped the non-cooperation movement.

A. Statement 1 is right and 2 is false B. Statement 1 is wrong, 2 is right

C. Statement 1 and 2 are correct D. Statement 1,2 is false
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37. sapm sMEuHMS FHAUTIESLD.

FaDM)| . MFLOET G(LP &FIJ BT6I MFLOET HMevemLouTed 1927 gyid gy6001(H Y mIFl6L SIFFmeL
PuNSSIULL G @6 GWaIDEG QHHWITETNED 6TRIG QFQTDTILD &(IHLILSCSTG. STLLLILILL §|.
SITEILD : @& G (PeleL QL 1D QUOM(BHSEUTHET SHMETEUIHLD Y RISCEOWITEHET. [ QbS]
ol @5l QL LDCLMEIELEmEL.

A. gaHm)| &1l S6UUILD Feum)

B. sahm seumi sryesuid &ijl

C. sahm) SMI6wILD &ifl, FaHMISHE SMIEIILD &FHUITET eXeT&ELD.

D. gammi &1 &yewild &M, FaHm Q&G SHTI6OILD SFHIMen eMeTé&HD QeLenev

Assertion(A) : The Simon Group was appointed by the English Government in 1927 under the
leadership of Sir John Simon. The group was blacklisted anywhere in India.

Reason(R): all the members of this group were English. Not even an Indian.

A.A s true butR is false

B. Ais false but R is true

C. both A and R are true and R is the correct explanation of A.

D. Both A and R are true but R is not correct explanation of A

38. “wuw szpdrd $aly Cauml THETTID Hstr HBLUE SienL W LT GL 65, HITD ASHETEH
aumpGeumb 2iebevgl ailpCGeaurd. iHwimeney aNEFHeneo Qupé QFLICauMD 2i6be0G QAFSHF
Lolg.Geumb” eT6Tm)l Saiwieuly wimy?

A. sumeg shIGuTey B. smhlwigsen  C. Cu(p D. eueveoumit L GL 6o
"I will never be satisfied with anything other than complete freedom. We will live or fall for it.
Who said, 'We will make India free or die'?
A. Subhash Chandra Bose B. Gandhi C. Nehru  D. Vallabhbhai Patel
39. QuUT®BHZS.

1. peesr @ibHwimensst eNigQeueiafl - @IMTOEOIRIS Silq &6l
2. @&l FLOWISHSH6 LDTIL_I.60T ST - 6016wl ClLIF6oTL
3. By, @bHuir - GeUmLdl SWImeh S Frerveud)
4. eueremeomy - grQMymD GLOMSEoTITI
A.4321 B.1234 C.2143 D.4312
Match.
1. Herald of new age in India - Ramalinga adigal
2. Martin Luther of Hinduism - Annie Besant
3. New India - Swami Dayananda Saraswati
4. Vallalar - Rajaram Mohanrai
A. 4321 B.1234 C.2143 D.4312

OE S QS g EHIHEUT §womHELnISImT
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40. Qssirene LOSTERET FnLILT6GT (LHSHEL HEMEVEUIT wim?

A. gmogml (W &edwimy B. oyehg&&rmey)

C. @rpmienswim pru]d D. 1q..6TD.HMWIY

Who was the first Chairman of the Chennai Mahajana Sabha?

A. Ramasamy muthaliyar B. Anadhasarulu

C. Rangaiya Naidu D. T.M.nayar

41.

42.

43.

weafg auenrb sgpih Q&FTed GMALINB LG
A. genLp &&6T G Me (LP&HeS(h B. Geuenmegurenio g menr QFeve

C.QgM5 518861 LG (PH&HS(H D.@L (h0wn$s w&seilsn SmenLn
The term human resource refers to

A.investment on poor people B. expenditure on agriculture
C.investment on assets D. collective abilities of people

Nereu(meucaumenm &hSH60 QAsmens

gamml 1: sOPBTEH QHEICLMHEG LGBUSSTOM SHTOMGND 9F& Wenlp CLMIOISHELmE6D.
amml 2 : @uiLeug e wenlpLiCLmble] CLom&HeO(hhg HNsHEG CHTES GmMEME).
A.gammi 1 &l B.@pewor(hd &l

C.gammi 2 &1l D.@ueu®L seum

Statement 1: Tamil Nadu does not receive much rainfall from Southwest monsoon.
Statement 2: rainfall during the season decreases from west to east.

A.statement 1 correct B. both statements are correct

C.statement 2 correct D. both statement are wrong

SLOLPSHHH6L cTelOIMS LITEFGILD SIHSLONS 2_6TOTHI.
A. 31606001561 B. spmisein C. &evoim) D. &mebeumiiger

which one of the following source is the largest source of irrigation in Tamilnadu.
A.dams B. rivers C. Wells D. canals

Nereu(meucTaumenmn &(hHH60 QAsmens

oMl 1: sOLP&SHH60T HleMLPUTUND FHTHHEHGlG @G LD.

amml 2 : @& CQF6iTenens@ S(hSHFHUIQUITES CauSHUCUT(HL 6T 2 MHUSSHUNCL @Q6TuL_Meg)|
AL G dleL 2_eerg).

A. sapm) 1 &1 B.@petor(hb &l

C. gammi 2 &1l D. @reu(GLd Heum.
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Statement 1: Thoothukudi is the gateway of Tamilnadu
Statement 2: it is a major chemical producer next to Chennai.

A.statement 1 correct B. statements are correct
C.statement 2 correct D.both statement are wrong
45. sjcirenen QFTET Renee) sicTmang QUsailssr H(HLOT 2 S6T S L SEH6HT CLPGOLOTS & (LD SITIL
[H606H LHMILD FSHGI6LSH S SH6H SieNDIITEL iTTeng CLsvgemer SHpLISHHHTS
QAsT(R&GLD AHTNE cTeraI6TE)?
A.Rs.50,000 B.Rs.25,000 C.Rs.15,000 D.Rs.35,000
To help financially Rs. for orphan girls for their marriage ( annai Teresa ninaivu
orphan girls marriage assistant scheme) by social welfare and nutritious meal programme
department.
A.Rs.50,000 B.Rs.25,000 C.Rs.15,000 D.Rs.35,000
46. QuUITBSHZHIS
LOMEULL_MRIG6NT LD6DI6V &6
A) settesillm@Lorfl - GCEHETAM
B) G&euld - LD(HSIEUMLD LDEM6V
C) Hetni(h & 860 - &G FLDEMIGV
D) &(mQms0Geusd - Q&ML &S T6ET6EL
A.2341 B.1342 C.4312 D.3421
Districts hills
A) Kanyakumari - Mahendra Giri
B) Salem - Marudhuvazh malai
C) dindugal - kanjamalai
D) Tirunelveli - Kodaikanal
A.2341 B.1342 C.4312 D.3421
47. evaIRIS LOHLD, LOEOLITT, LIV (GG CUITGTM LOFLD QUENESSIT, cTelaIms SM(h&amed SraRTlLIBLD.
A.QeuLILILDETITL 6V LIGEMLOLOMMIT ST(H &6 B.101g QleuliL LO6IITL 6V LD6MEV &IT(HS6NT
C.QeuliuLn6inL 60 Qeneow ST ST(HS6i D.ommii@Gnmey sm(hsern
The major tree species like cinnamon, Malabar ironwood, Kindal are found in
A. tropical evergreen forest B. mountain temperate forest
C. tropical deciduous forest D. mangrove forest
Ot e QS % mpih GEITEUIT §eamEELmIGamD
5 @8 SI0LURNLOE Ry)




= F o\

PR o P sevad
Zey ansszic
48. QuUTBSHHIS
@L b 2 MUGSILI QUIT(HLGeI
A) sy ysui - MUl L, enguied
B) wgieny - umud
C) ugsLemL -Ul@®
D) Bev&if) - &Gl CFemeL
A. 1234 B. 2134 C. 3421 D. 4213
Place Products
A) Arani - orthodox embroidery
B) Madurai - Mat
C) Pattamadai - silk
D) Nilgiri - Sungudi
A. 1234 B. 2134 C. 3421 D. 4213
49. SOUPBHILIq6L 61hG L& Bemomer QBGEHFTME0 @&F0 DHHEH SHsaNuTGLOf Queniy
QAsTLj&MGI.
A.NH-785 B.NH-44 C.NH-47 D.NH-64
The longest national highways in Tamilnadu which runs from Hosur to Kanyakumari
A.NH-785 B.NH-44 C.NH-47 D.NH-64
50. SPHTIHEG DTS HHLONE HNRMLISNTSHMS LILGTLESSILD Qg SenSWITaTjSHenen
Qamsu(Renat LOMHEOMISET cTEneN
A.&JHTL&T LMHMILD ShHET B. wa&mymegiqym vmmID SFHITL &IT
C. gyl NyCHed wmmid Gayenm D.Cayenm OHMID LDSTYTeQIqrT
Which states has the highest number of internet subscribers along with Tamilnadu
A. Karnataka & Andhra Pradesh B.Maharashtra & Karnataka
C.Andhra Pradesh & Kerala D. Kerala & Maharashtra
51. A wppib B gu@Cum@mer A Qenemwicuy. siujseilsir euugisailsit eNgHwnessHes 7
LLRISTTS Sieufsefler euugisafst faGHVISEGS FLO. 12 andsErsGU DG B uler
QuugGib A uller FHCUTMSW uWIGILD 5 : 3 eTeitn NHFHSHHL DLl A ullsr FHCUTESIL
QIWLIG) 6TeTe0T?
A. 30 eu@pLmigern B. 36 eu@mL Mg C. 42 eu(mLmisen D. 48 su(mLmusgern
A is younger than B. Seven times the difference between their ages is equal to sum of their
ages. Ratio of B’s age after 12 years and A’s present age is 5:3 then what is A’s present age?
A. 30 years B. 36 Years C. 42 years D. 48 years
Ous e QG agh @EmHEUD §aE@EELmIEI
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52.  0.090909.........ccoennunnnennn 6T6HI(D &PV SHELD CTRMNMNDG FLOLOMES XNESH(LPMI 6T6T0T 61517
A. 90/100 B. 90909/1000000 C. 11/100 D. /11
Rational form equivalent to the rotating decimal fraction 0.090909 ........................ is
A. 90/100 B. 90909/1000000 C. 11/100 D. 1/11
53. @@ eunifulieb 6 LTHRISEHSES (WHSE® AFWIWILLL 91F6d ¢p. 2500 5@ euLlg. ¢m. 100

54.

35.

56.

57.

HL&HMGI. cTaled ICH all g aiHSHed 9 TSHRISEHSHS 1560 ¢6. 3200 &@ HML_&GSLD
QL lq. cTeucuaTey?
A. ¢m. 200 B. ¢m. 192 C. em. 180 D. em. 210

A sum of Rs. 25000 deposited in a bank gives an interest of Rs. 100 in 6 months. What will be
the interest on Rs. 3,200 for 9 months at the same rate of interest?
A. Rs. 200 B. Rs.192 C. Rs.180 D. Rs. 210

@6 Qruled Hemeoww siga&MHLD 1 WaNES @@ S, 2 WaENES Q@ LD, TeaTmeurml Lo6w
@0&6GLOMY SMLOESLILLI.(HBSTE, b HIafldd Si&H&1.HMTLD L6 eddsHH6i canaibans
A. 300 B. 156 C. 250 D. 78

A Railway clock strikes once at 1’0 clock, twice at 2°O clock and so on. How many strokes
will it strike a day?
A.300 B. 156 C. 250 D. 78

(x2-9)(x-3)/4 wppitb x2+6x+9/8 gy@weumiesr LB.QL.6u 618I?
A. (x+3)2/4 B. (x-3)2/8 C. (x+3)/8 D. (x-3)/4

HCF of (x2-9)(x-3)/4 and x2+6x+9/8 is
A. (x+3)2/4 B. (x-3)2/8 C. (x+3)/8 D. (x-3)/4

@@ g e SrsHed 2/11 uniens Canéa: auamguligith, 17/22 uniens Gruied
ausinquieuiLd, g eren 1 A8 L eny BLHSID SLSBmM] 6Tesled LILIGwT HILD eTeiTewr?
A. 22 8.8 B. 20 8.8 C.33 4.8 D. 27 §.8

A man travelled 2/11 of his journey by coach, 17/22 by rail and walked the remaining 1 km.
How far did he go?
A. 22 km B. 20 km C. 33 km D. 27 km

GO L CryFHed @@ yFHer BLped 8 18 wdHmIh CHyTs o cter 3 18 2 winb QsreL @@
Camedieor RIL6L 2 LT eTeuiled LOgHSer 2 wipLd STGS.

A.10 8 B. 6.8 C.98 D. 128

At a particular time the shadow of a tree is 8 m while shadow of a stick of length 3 mis2 m
find the height of the tree

CuEp grah QS * iy ISTHIEUID oAU
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A. 10m B.6m C.9m D.12m
58. 7/50f58+3/80f139.2=17

59.

60.

61.

62.

A. 1334 B. 137.2 C.127.8 D. 1316

7/5 of 58 + 3/8 of 139.2 = ?
A. 1334 B. 137.2 C.127.8 D. 131.6

a*b = ab/a + b eteur* er6iT QAFWD QuFUIMHDMSSILLL 6D, 3*(3*-1) 651 DAL STV,
A.-3 B.-1.5 C.-1 D. 2/3

If * is defined as a*b = ab/a + b, find the value of 3*(3*-1)
A. -3 B.-15 C.-1 D. 2/3

5 asunsefed Fymed 180 siumhmicd e sanament BsAemmed sgmafl 155 aar LOTNIAMS! cTeoNed
PEHSULLL. TGS SIS,
A. 240 B. 280 C. 320 D. 360

The average of 5 numbers is 180. If one of the numbers is removed then the average becomes
155. Find the removed number?

A. 240 B. 280 C. 320 D. 360
HESS. X\2-25/x+3 + (x+5)2/x2-9

A. (X-5)(x+3)/(x-3) B. (X-5)(x-3)/(x+5)

C. (x+5)(x-3)/(x+3) D. (x+5)(x+3)/(x-5)
Simplify x2-25/x+3 + (x+5)2/x2-9

A. (X-5)(x+3)/(x-3) B. (X-5)(x-3)/(x+5)

C. (x+5)(x-3)/(x+3) D. (x+5)(x+3)/(x-5)

@ QUGLIIN6 2 6TaT LOMERTEUTSHET Ch. 4624 e (LPFHeoanLo&&ifieir LomBleo Reungewr RBWITS
Qsgig Hleuiri. @elQQUTH LOTRTUIBLD H6TH LIKISTS HTG QUGSLILNCL 2 _6Tar LomeTaujsenesn
ARURNEMEES FLOOTET QASTansmIL QET(HS S 6Tafed QUGLILNGL 2 61TeT LOTEUTEMIJ&6T
aggenes Guri?

A. 64 B. 68 C. 62 D.78

The students of a class donated Rs. 4624 for chief Minister’s State Relief Fund. Each student
donated as many rupees as the number of students in the class. Find the number of students in
the class.

A. 64 B. 68 C. 62 D. 78
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63. sefiauamenii LWeTLGSH @@ mereus 48 QF.18 2 wippd 12 QF.8 gy@wLD QsmeL Cpiy

65.

66.

67.

QI L H@mné FalbenLidF QFULISTT]. Si&SalbanLl LDHADMT(H LTI (5 HEnd CaTanoms
LomHeTTy. Sleeumml LIHOUULL LHW CaradHen 055 SN6ns.
A. 12 Q&8 B. 15 Q&..8 C.9Q&.8 D. 14 Q&.18

Using clay, a student made a right circular cone of height 48 cm base radius 12 cm. Another
student reshapes it in the form of sphere. Find the radius of the sphere.
A.12 cm B.15cm C.9cm D. 14 cm

@O AF5Tmeé&TL AL QUL Iguilsr alleneo ¢6. 30000. @@ Pmicuaid HQsTansamw 10%
QILIg.U|L 65T 24 0TS SHSHUMTMLITSES FFeOMD cTeT@eiamal. Hend aImmiGLel] QFNI5HS
Ceuaitmaq Ll LOMTSSH FH6UMGH cTeuauaTey?

A. Rs. 1500 B. Rs. 1200 C. Rs. 1600 D. Rs. 1400

The cost of a T.V is Rs. 30,000. The company offers it in 24 months. But charges 10% interest.
Find the monthly installment the purchaser has to pay.
A. Rs. 1500 B. Rs. 1200 C. Rs. 1600 D. Rs. 1400

1657 wihpith 2037 B QIGEES Falq il OSIALIFILI TENMENS STRNS. SlUQTH QIGSSLLCUTS
il (WenmGul, 6,5 syl IEHenw &(mBeiTmert.
A. 13 B. 16 C. 127 D. 381

Find the greatest Number, which on dividing 1657 and 2037 leaves remainders 6 and 5
respectively?
A. 13 B. 16 C. 127 D. 381
ufbSiengLiLig &HUI ENGQVEHTON Y EHETILILD SiENLDSSLILIL L S
A. &hoTeId SLOIL g B. Gamijeureon siM&Hemns
C. &mumevesil sLOIL 1q. D. @ndHw Hijeuns FTHHSHS ) 6m6s0TLILD

Central Vigilance Commission was set up on the Recommendation of

A. santhanam committee B. gorwala report

C. kripalani committee D. indian Administration Reform Commission
Meireu(,eustaummiev siehans &CrbHy Hrd Luneried "amisen e flenwoser LHMILD
&3bHIHISeMN6T ClodearT STILT" eTem) GOUINLLUGROT)?

A. @ihHwimeNest SFELIe0emLOLIL] B. 1919 gy1b gy 6t01(h @B H6 616D FLL LD
C. 1772 Q6o epphi@(penm L 1b  D. 1858 gy1b oy 6turiq 651 FressNuNesr LNJaL 6vTLD

Which of the following was referred by Surendra Nath Banerjee as the “ magna Carta of our
rights and liberties™?

A. The constitution of India B. the Indian Council act of 1919

C. the Regulation Act of 1772 D.the Queen's proclamation of 1858

CuEp grah QS % iy ISTHIEUID oAU
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68. WMeteu(mLd Fammied 615l 2 avrenin?

1. @hsl oigs: gL LD 1935, rsmeumisailed Qrlenl. gL fenwt MW sLILGS SIS

2. @nHw &6 erfled FLL LD 1935 @6 2 (heursHSLILLL )

3.0m6@nGL @ Q&ervCuTI(h FIH(HHHF FLLLD LOMSTEEIRIS6MN60 QL 6mL oL &emil
MW sLILGS SIS

4. wor&meser &WITL& 1935 6L MW &LULGSSLILILL I

A. 1 wmmib 2 B. 2 mmmitd 3 C. 3 womib 4 D. 1 wmmid 3

Which of the following statement is true?

1. The Government of India Act 1935, introduced dyarchy in provinces
2. The Indian Council Act was formed in 1935

3. montagu chelmsford reforms act introduced dayarchy in provinces
4. provincial autonomy was introduced in 1935

A.land?2 B.2and 3 C.3and4 D.land3
69. Mijeuns SHumué L 1b QML juns LsireumeusTeummied 618 FFlwimerg?
a. @5l 1985 suid Sy60119.60 HlemMCUMMLILILL &)
b. Qe &L 5860 AW Hifeurs Slumud wmHmibd wrHleo HiFeurs STiLmuLD y,&wiame
SIL_MIGLD
A. A bl (HGCw B. B wL(HCw
C. @rean( SIMN&emssEnLD FiflWimerenel D. @rau® SiM&enssEn0 §eUmTerene
Which of the following is correct concerning the Administrative Tribunal act?
a. it was passed in the year 1985
b. The act includes both Central Administrative Tribunal and State Administrative Tribunal
A.only A B. only B
C. both the statements are correct D. both the statements are wrong
70. omBlev (WHeLUNTS Geveomnsd QibHILI LNFHLOTTESTEU] WIMy?
1.Qurgmyed CHami 2. gIy6vor Sml 3. a1 1 ik 4. s &y CF5Iy
A.1l2&4 B.12&3 C.2 LW D. 4 bW
Who among the following became the Prime Minister of India without being earlier the chief
minister of the state?
1. morarji Desai 2. charan Singh 3. VP Singh 4. chandra shekhar
A .12 &4 B.1,2&3 C.2only D. 4only
71. 1955 @AW Qom yenernusHer Geneoal
A. 9.8 Qsiy B. Camalbg Levevll Lhs
C.LrmsLy 0. j.obCussy D. smpged
Qs S QG * mpih GEITEUIT §eamEELmIGamD
VUi Rs T GITIO] 5 @8 SI0LURNLOE Ry)
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The chairman of the official language commission in 1955 was
A. B.G Kher B. govind Ballabh Pant C. Dr. BR Ambedkar  D. santhanam

72.  SsipfweoamoLifer LNsemear MISia] AFiaGHETET CHAW S, NERTILILD
6TLD. 6T60T. QlEUMIBL_&F6VMI HMEVMLOWINED LOGHHUI JIFEFTEO 2160071960 SIMLDSSLILILL G ?
A. 2000 B. 2001 C. 2002 D. 2003
The National Commission for reviewing the working of the Constitution was headed by MN
venkatchalam was set up by central government in
A. 2000 B. 2001 C. 2002 D. 2003
73. oips eafuifsefler ST HeuMMe HL &S, HEUDNET HENL (LPENDEST, 241LO6D LOHMILD
SUDNaT fL- g gawaibeny sflurjés QHHW Sirs NeraudLd HNIQIATSMS LSS S5?
1. S HUW NPILILIETITTEY 24, 6M6T0TUILD 2.Geom&LUmeL
3. iy GumeServ ervgmueTLd 4. &GS LeveurmiieyLl LNifley
A2 &3 B. 1&4 C.3&4 D. 1,3&4
Following institution was set up by government of India to check misconduct, mal practices,
corruption and misbehaviour on the part of public servants?
1.central Vigilance Commission 2.lokpal
3.special police establishment 4.central Bureau of Investigation
A2 &3 B. 1&4 C. 3&4 D. 1,3&4
74. Geom&umed LICEFTH 6T[HS 26IE LIMYTEHLOGTDSHD M (WPSLILESSLILL aT60em60?
A. 1968 B. 1971 C. 1985 D. 1978
In which year the Lokpal Bill was not introduced in Parliament?
A. 1968 B. 1971 C. 1985 D. 1978
75. Nereupausteumend QUITHSHSIS:
A. e gLoeor SLH660T - 1928
B.Ch@® SiMN&ens - 1932
C. @neoiLmeug) eul L Goeng wpn@ - 1927
D. eu@Llyeurg SiMsens - 1931
A.1234 B.3241 C.3142 D.2341
Match the following
A. simon Commission - 1928
B. nehru report - 1932
C. second round table conference - 1927
D. communal award - 1931
A.1234 B.3241 C.3142 D.2341
OuEE srath QErEaID # mpih GEITEUIT §eamEELmIGamD
VUi Rs T GITIO] 5 @8 SI0LURNLOE Ry)
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76. SbHwraNer 236Gl FLL YNNG S SNV wimiy?

A B8 i Lyseio o B. £8) uf Heiosmm

C.h8 sLg D. & Cs. umev&(m, 6196001631

Who is the chairman of 23rd law Commission of India?

A. justice Ajit Prakash Shah B. justice Shri Krishna

C. justice Katju D. justice k Balakrishnan
77. eag sflwns QuTGHSaNebaneo?

A.aNg) 153- gy Enbiler spaueusnd B. ad 154- gy empmiHler Hijauns HSMyD

C.a0N8) 155- sy Enmeng H86G 560 D.aMlg) 156- sy, @pmiflest LGaN&HSmevLD

Which is not correctly matched?

A. article 153- office of the Governor B. article 154- executive authority of the Governor

C. art 155- removal of the Governor D. article 156- term of the Governor
78. &ealeb 2 fleMD&ET LTGISTLIL FLL LD (PFL HOL (PODES QUbhSH

A.19 meubuiy 1976 B.19 meubuiy 1974 C.19 meubuiy1975 D. 19 meubuiy 1977

The protection of civil rights act came into force on

A. 19th November 1976 B. 19th November 1974 C. 19th Nov 1975 D. 19th November 1977
79. &psauLaubhenmn QUITHSSHIS

A. 36 eugl G SHLD - Gameur

B.13 eug H(psHHLD - Fal_(BM6Y HEMLOLILIS6N

C.97 sug) 8l(h5 51D - 55 S

D.56 sug H(pSHsLD - BTSTEVMHG)

Al234 B.2341 C4123 D.3421

Match the following

A. 36th amendment - Goa

B.13th amendment - Co-Operative Societies

C.97th amendment - Sikkim

D.56th amendment - Nagaland

Al234 B.2341 C4123 D.3421
80. G sifwevanoLITeH Y eRissT LHMID WMHRISEFES enLulleomer FL L LD6TMD

2 MY &6 elHuller £ eNufé&Rm

A. el 245 (pseL 255 euenry B. a4 256 (n&ev 263 euemiy

C. ellg) 264 (LpgHeL 267 euenly D. ell&) 268 (LpgHeL 276 eueniy

Ous e QG agh @EmHEUD §aE@EELmIEI
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The Indian Constitution describes legislative relations between Union and states in article
from

A. article 245 to 255 B. article 256 to 263

C. article 264 to 267 D. article 268 to 276
8l. L®mHFIU KYIMUFH &6 6TAD UTLPHTET FTHMaTTaT] NG WT([HEES CULDRISLILILL &)?

A. Cam&pmusSLD B. <46011h&@GLOMy C. grdgmy e D. oeutied @Lomiy

Who was awarded the Lifetime Achievement Award by the Medical Research Council?

A. Gomadinayagam B. Anandakumar C. Majumdar Shah D. Anil Kumar
82. by BB SiMEFFaaULIleD FHLODHTL Iq.65 Cougonengé Caihs SlNSHT QY6

S b g G Gieimenrmiy?

A. g6 B. sgliumetdt C. oiQwf&am D. @eomiens

In which country did Anita from Vellore, Tamil Nadu hold office?

A. Canada B. Japan C. United States D. Sri Lanka
83. Ns&GMDHS uwHed BH QurmiLienu gD Wik NFSTIAR 61hH rhevdmas CajhgHau)?

A. prgerogmesr B. @g0mé C. w&nyreglq ym D. giipmpr(y

In which state did Mayank pratap Singh take charge in Judiciary at his lowest age?

A. Rajasthan B. Gujarat C. Maharashtra D. Tamil Nadu
84. elanemur(® eljsEré® S5 56l QL @5E8F apnGLD LIHhe ixs?

A. wsHw NTCHELD B. 98T C. Qg Imigmestm D. Gsyenm

Which state government provides 5 percent reservation for athletes?

A. Madhya Pradesh B. Odisha C. Telangana D. Kerala
85. by QYAMgHGT MUCFIITene @LNES LSHW 278 Pevé@ Riyuiggiereng?

A.2021 B.2022 C.2023 D. 2024

Within what year has the central government set a target to eradicate filariasis?

A.2021 B.2022 C.2023 D. 2024
86. eh® Camrenen YUmilEUSHHETS ey 4 allauseo QFISSHUILILL &)?

A. Qaeueumil B. ugeor C. elwimpedr D. gefl

The Mariner 4 spacecraft was sent to investigate which planet?

A.Mars B.Mercury C.Jupiter D. Saturn

Ous e QG agh @EmHEUD §aE@EELmIEI
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87. YD ereighid omBleosHledt (GO Qb HrCarenL. AFMLmBwerer GhHw ompleotdb?

A. siflygm B. slppr( C. simeminéseo NFCHELD D. Gaiyenm

Which Indian state started the first Hindi daily "Bhoomi"?

A. Tripura B. Tamil Nadu C. Arunachal Pradesh D. Kerala
88. L &1L 6T6HTLIGI 6THS HITLIG.60T LOMTSHTEILOTGLD?

A. 08 B. gmeuLnett Heys e C. &fluré D. udyeum Hluy Sevfluim

Bhuganville is the province of which country?

A. Fiji B. Solomon Islands C. Kiribati D. Papua New Guinea
89. Seauhiied Goulj uTLRIGET QASTL FLeML W LomBReoLh?

A. Gaiyerm B. &flygm C. Gusmeowim D. o&mb

Which of these is a state of root bridges?

A. Kerala B. Tripura C. Meghalaya D. Assam
90. WY ey AFWE (WaDMWILLD gL L 6D LOWILOTSE 2_6TaT (LS HT®?

A. @ipHuwim B. OlwimesTLoly C. YL Lmedt D. @eomiens

Who was the first country to digitalize the entire Hajj system?

A. India B. Myanmar C. Bhutan D. Sri Lanka
91. &flwner uflemeo Cuijay QAFIIS

GMHMIFFLHEL LOMFUMTL g MS&TeT L& &6n6ot?

|. CousLoms euajhgl eU(bLD LD&S6T QG TE0ns Il. Q& mAELLOUILDITESH6D

I11. Hlev wr&UTH V. B wr&ur@

A.l bpmibd 11 & B.llwl @ efl  C.l wpmid 1V &1 D. IV bl @ &if

Choose the correct answer

Problems for environmental pollution is

|. Rapidly growing population I1.Industrialisation

I1l.Land pollution IV.Water pollution

A.l and Il are correct B.1l only correct C.IIl1 and IV are correct D.IV only correct
92. Lmyeeir NEpES6T DHNS TBSIHSHTL (B &S6IT

A. Qen6uuTliLisemen @)6m6uns & 60 B.u@msusmeo @L bQuUWIjey

C. ssauemoliy s&jeiE s D. oL (h6tur6ueN & & 6v1Ld

Darwin's finches are examples of

A. Connecting links B. Seasonal migration

C. Adaptive radiation D. Parasitism

AR sramh Qe@amh mgih GIEIEEUTD §mmEEMEIEaID
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93. &Gy 2 crer GHWIGSNOBHG FRwNeaTr LHleneos CoiaQaFIs
oMl (A):LeLH6M6LEF G LDHl6M6L LOGTITL L& Sl6tT QMHMEL NFLOIE CLoeLCHTSHHIL NFLOIL TS
2 _6Ieng)
srewid (R): o musHuimenysele sTaiuendHens &L WHMID CLoedBlenew TLHEF
2_6Gu16uuT &61TI60T 6T6T0I6TNH6ME (H6MMELUTSH 261161 G|
A.(A) b @ &if B.(A) wmmid (R) &if
C.(R) bL@®w &if D.(A) bpmib(R) sy eurmed (R)&flimest &Mjemild Si60ev
Choose the correct answer from the codes below
Assertion (A): The pyramid of grassland ecosystem is upright
Reason (R): The producers are maximum in number and tertiary consumers are least in number.
A.(A) alone correct B.(A)and (R) are correct
C.(R) alone correct D.(A) and (R) is correct but (R)is not the reason for (A)
9. gspReneouiwied ubHBiw ugeuens HMmIS QASTETETUILLL. QUMTWIEND ........... TGHTLIGUIFITEL
2 (HUTSSLILLL S
A.31Q60&FT6IOTLI] 6uM6dT HDGUTELL. B uyei60r (1 6pLLD
C.&417 Weronm D.etjsorervL. Qem&61&60
The most widely accepted definition of Ecology was given by
A. Alexander von Humboldt B.Eugene P.Odum
C.R.Misra D.Ernest Haeckel
95. mpefar &LRaneouiiwiedsr SHeng?
A.91Q60&FT6HOTLI] 6uM6edT HOGUITELL. B wygiedr (1 epL_Ld
C.&y7 heromnm D.stjssrervL_ Qam&6l&eL
Father of modern ecology?
A. Alexander von Humboldt B.Eugene P Odum
C.R.Misra D.Ernest Haeckel
96. WMeTeu(nausTauhHenD QAUT(HSS5IS
1. umemeVEU6TTILD (UMETTTL HIT(H GH61T) - &. SUSHULLG S LGOI SITH &6
2. @smeow|SN] ST(HS6N - b. @uwiemev Qg estesihH i
3. QeULILILDETITL 60 LIG6MOOMMTS STHSEET - C. LUEh&FML & exmflulmestmeledt G601 LG SH&6i
4. D66V SST(HS6NT - d-Cm @G QSTLJES LDEMEVSET, @LOWILDENED Silq 6UTILD
A.l-b 2-c 3-a 4-d
B.1-c 2-a3-d 4-b
C.l-a 2-b 3-c 4-d
D.1-c 2-a 3-b 4-d
OuEE Srah QEEATID # g EHIHEUT §womHELnISImT
el i@t 5 @8 SI0LURNLOE Ry)
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Match the following
List A List B
1. Desert (Dry Forest) a.Peninsular Region
2. Deciduous forest b. Himalayas, southern India
3. Tropical ever green forest  c¢. Southern part of Punjab &Haryana
4.Hill Forest d. Western ghats, hilly himalaya in North eastern India
A.1-b 2-c 3-a 4-d B.1-c 2-a 3-d 4-b C.1-a2-b 3-c 4-d D.1-c 2-a 3-b 4-d

97.

98.

Nesreu(mauataumenm SmSH60 QAsmens

aMMI(A). GCamHGeILL L L FRNGHQSHTELNUNGT HSSLILIGUITETT LilesTUM( LO6vor HmMID Biy
LOT&GUTL6mL JOUGSSHHME

snyewild (R): @&FHmaW L FHGASHTELE0SHET LD&HGLD H6OTenLD ClSHTETIL_ 66 SI6V6V.

A.Both A pmib R sflwretenes wpmitb R &flwimer eMenésib.

B. #flwmsnigy Sy61med o4 FHlITer eNens&HD 31606V

C. Ammitb R @reauGLd siluimesisney Sis06v

D.A gflwureng R gflwimergevev

Assertion (A): excessive use of chlorinated pesticide cause soil and water pollution
Reason(R): Such pesticides are non-biodegradable.

A.Both A and R are correct and R is the correct explanation.

B.Both are correct but R is not the correct explanation

C. Both A and R are not correct

D.A is correct R is not correct

QU555

1. yedl&em LMGISTLIL SIL_L_LD -1975
2. g LGCTeQesT snmyGeur -1992
3. WIMEn6TTSH6T LMGISMLIL] SLL LD -1973
4. WHsmeL QeLICLBSSD HL_L W - 1990
A3421 B.4321 Cl234 D.3142
Match:

1.Project Tiger -1975
2.0peration Rhino -1992
3.Project Elephant -1973
4.Crocodile breeding project - 1990

A3421 B.4321 Cl234 D3142
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99. &8ss sapHmisafed Fflwirerg e1g?
LONORIAIIED L RISTEHSET, HTeugaNiicd CHTLL MG p&ulsnal QUITgiems g peale
UTSISTLILSSHTE Sl L MISETTEGLD
I1.CHAW L RISTES6T, 2 UNTCHTeT STLLL RIS eUeTONELMIEG LGS0 RISET &M §HLO6D
2 6116 LITGISTLIL| W|SSSHETEGLD
Al b &if) B.iib_ (b &if) C.i&iigeum D.i& iigi

Which of the following statement is correct?

I.Zoological park and botanical gardens are common environment conservation programs
Ii.National parks,biosphere reserve,wild life sanctuaries environment conservation strategies
A.i alone correct B.ii alone correct C.i&iiwrong D.i&ii are correct

100. @@ BrTame&E WaNS6 T(hSHISQsTeTERLD Y sHQafsr syTef slerey?
A.25060 B.35065 C 45068 D.55065

Average Human consumption of oxygen per day?
A.250L B.350L C.450L D.550L

101. sapHmiSeneT QYIMLIS
. Of&s (LIYHs aNengsEemar 2 enL Wl HTeurd QHaNSSHme0d STeuLd
I &8 KT aNenGSHmeT 2 ML LI TEINLD (HaNGHMELE STEUILD
A. @neu(b & B. @nen(id seum C.ibLGwe&fl D. iibl@Eb seumy
Examine the features
I. A plant with inseparable seeds are dicots

Ii. A plant with indivisible seeds are Monocots
A. Both are correct B. Both are wrong C.iisonly right D.iiisonly wrong

102. 2 peuesit THR cTar SiemREEILEEUSI

A. LD6TuTLI(LD B. Qeul_(p&Hefl C. susueumed D. pmeny
The enemy of the ploughman so-called
A. earthworm B. Caelifera C. Bat D. Stork
103. QUIBSHZIS
a.Q&M &eL&& 1. eumip o uNiflesr euenmiyri
b.ammiL g 60§80 2.Gg6vfl euenmLiL
C. G &6LE&I] 3. LUy eueryLL
d.g seL&&] 4. GHMLL &86m6V
A.3412 B.2341 C.1234 D.4321
Qs S QG % mpih GEITEUIT §eamEELmIGamD
ey cuiGmt 5 @8 SI0LURNLOE Ry)
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Match the following
a. Seri Culture 1. Living organism
b. Horticulture 2. Beekeeping
c. Aquaculture 3.silkworm rearing
d. Api Culture 4.Horticulture
A.3412 B.2341 C.1234 D.4321
104. sLe0fflsir QepHRMOTE WIHDID FTQIY QIS
A.emL_GearmlisomeGeuL_er B. 5mig Hm sL60 uré
C. udeme Hm HL6L LTS D. &lauiy Hm &L uré
The type of vegetation that transforms seawater into red colour is
A. Dinoflagellates B. Gold colored sea algae
C. Green sea algae D. Reddish sea algae

105. & snavLena Saner Sieuhmier LDALTNET SigLiLienLuled goiauflansuiled imLnésa]Lb

1.5 S &(HS I.@emrLlenu oLblevLd Hi.gmu Biy IV.umeL

A.ii, il iv, and | B. ii, iii, | and iv C.ii, v, iitand | D. i, iii, iv and ii

Set the following shows in ascending order of their PH value

I. Human blood Il. Gastric acid iii. Pure water iv. Milk

A.ii, il iv, and | B. ii, iii, I and iv C.ii, v, iiiand | D. i, iii, iv and ii
106. gmeuy QsmALpIL LW SHs seralied LG SFULGLD unsiflur g

A.seameroGLomguilb Q&L 1 &L B.CshCoHTCLomssTery L smiy

C.GuBlevarvCamumg@ Geowleirery D.218Gym umdig flwib L uh Guéluiestery

Which bacteria are most commonly used in plant technology?

A. Clasmodium sepdicum B. xanthomanas citri

C. Bacillus coagulans D. Agrobacterium tumeifaciens
107. QummSis

a fGum..LGenmeTeot 1.emeul_L LA6oT LN6

b gwiLhledr 2.6m6ul_ L LA6DT LN2

C en LIl IT& &601 3.emeul_L Lot L1N12

d gwenrmG&muevLOl6oT 4.emeul_L LMot N1

A. 2431 B. 2341 C. 2413 D. 1342

Match the following

a riboflavin 1.vitamin B6

b Thiamine 2.Vitamin B2

¢ Pyridoxine 3.Vitamin B12

d cyanacobalamin 4.vitamin B1

A. 2431 B. 2341 C. 2413 D. 1342

OUEs S QEERID i Grart@UID §mEEEUEIEITR
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108. smhmisiter wHEI sTHIRebeor Seumrsd GreagHGSLd QUTGaITET QNEETSET WiTanel
A.Semendsmedl&lerv B. &ylerv &pmé
C.5,6080MM6L 2 (HEUTH60 D.euomélg 6 ihlevld 2 (,6UMgeL

What are the common reactions to both aerobic and anaerobic respiration?

A. Glycolysis B. Kreb’s cycle
C. Formation of alcohol D. Lactic acid formation
109. daflwed 2 ML &r&GLD anTyCLomeRsr QL)
A.QoeuGL mevfletT B.smgGLom & eor ChHleoms et D.swg Comig fm L 19 b1
Pineal is the name of the gland,secreting hormone is
A.Melatonin B.Thymosin C.Relaxin D.Thyrotrophin
110. QumTBSZIS
A. sreorm l.uEpeme
B. ouNfl&&m 168 elwimg — 2.eneugerv
C. wmjy&sef 3.uméleflwim
D. Qur®® 4.4yCymL_CLrGameur
A. 3421 B. 4213 C.2134 D. 1342
Match the following
A. Cholera 1. Fungi
B. African Sleeping Disorder 2. Virus
C. Bronchitis 3.Bacteria
D. Dandruff 4.Protozoa
A. 3421 B. 4213 C.2134 D. 1342
111. 1946 gyseavL 16 b prener CHilg. HL6UigSM& HTeTTS SHONSS U Wiy ?
A. OWIT&S 216015IT60T B. & em&WS 918D SiT6oT
C. (1n5LG 9160 BlstTetm D. smhs
Who declared August 16, 1946 as the day of direct action?
A. Liaquat Ali khan B. Sir Syed Ahmed Khan
C. Mohammed Ali Jinnah D. Gandhi
112. 1933 geareufl 8 6ThH Hewrons igIFFSSLILILL Gi?
A. Garelled HIenLNE BHITer B. gL &0 mmen
C. Ghrlg L 6)IG&5608 HIT6NT D. &Ly mmen
8 January 1933 was observed as ..........
A. Temple entry day B. The day of salvation
C. Direct action day D. The black day
e | BE ey
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113. 1924 1b gyl el eV G.WFs JTERIAQID hiG o (HUTSSLILILL ) ?
A. &6y B. WO ewrii iy C. gylisme D. QLebed
Where was the Hindustan Republic Army formed in 19247
A. Kanpur B. Midnapore C. Afghan D. Delhi
114. gmbur Yy f&@ Saneoemnid gomeul ?
A. Slsbuf Neveurev B, sienifl Fgmymome) C. 858 D. &sm)
Who led the Ramba revolution?
A. Digambar Biswas B. Alluri Sitaramaji C. Siddu D. Kanu
115. 1933 6b umBlerogmeir e165M QFTELMEL 2 (HEUTSHWICU wimij?
A. 18L& 9160 B. (p&wg QsLimed C. 9160 @LomLd D. o185 smeir
Who coined the term 'Pakistan’ in 1933?
A. Rahmath Ali B. Mohammed Igbal C. Ali Imam D. Aga Khan
116. Gurefdev Glg.uLL RpieNwieu wimj?
A. GarsGeo B. smhé C. eusteNwibenn  D. Hevsiy
Who was the founder of Phoenix Residence?
A. Gokhale B. Gandhi C. Valliyammai  D. Tilakar
117. &bugeir &5WEFSSCHTEH QST FLenL W @LUILHSD 615?
A. et sEwim B. G6uL 5L 1g C. g9 D. ggiLblevsmev
What is the contract associated with the Champaran Satyagraha?
A. Thein Khadia B. Kundakatti C. Zoom D. None
118. QravwLmeug srmu&yev LNeTe] 6Tar AMPNESSLILLL G ?
A. &8 Lerey B. eumus LNfleNemeur
C. sl 58 2 (HeursH&Ld D. umgeun(® Nenms sL_& o (HeuUmH LD
Which is Called the Second Congress split?
A. The Surat rift B. Partition of Bengal
C. The formation of the self-governing party D. Forward Block Party Formation
119. Cn® M&EMS 2L amquinsd CaL (b QSTIL Gl 6187
A. &5HEIILD B. &meiiCleucvd 2 miLieoiy
C. s6epm(® D. s6tt6am_& Sihgeavg)|
OuEE srath QErEaID # mpih GEITEUIT §eamEELmIGamD
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What was the immediate requirement of the Nehru report?
A. Freedom B. Commonwealth Member
C. Separate country D. Autonomous status

120. Zeumnes Qenewr 1l ?

A. Gamumev BHMISSI] - &l6501(H & 560

B. umevoriy Goedr - JMENMRISIT

C. Gogd oL Ld - &CUGT

D. sijeored LMeTGCHTTL - 1857 ypL&
Choose the wrong pair

A. Gopala Nayakkar - Dindigul

B. Banner Man - Ramalinger

C. Sheikh Adam - Subedar

D. Colonel Bancourt - 1857 Revolution

121. SiHw sifieNwied sipsd Rpieuliu @erer GLLd e1?

A. QL6060 B. Qumisten C. (pwwenu D. sigwgmung
Where is the Indian Institute of Science established?
A. Delhi B. Bangalore C. Mumbai D. Ahmedabad

122. wgeang CursE@ HsFULMS SLGLUUGSHSID CHTEEHE SmHHLING.SHET 6T8HSHEN6 BT
2_cnrewmeNpSLd QwHSmy ?
A. 20 B. 21 C.22 D. 19
For how many days did Gandhi’s fast for the purpose of curbing the rise of religious
fanaticism?
A. 20 B. 21 C.22 D. 19

123. &Ca58 Hembd 61hs Hrefed Qsmeorm_uLlL g ?
A. 1907 wmy& 8  B. 1906 &16GLmuy 31 C. 1907 wmyg 9 D. 1906 &1&GLmuiy 30

On which day is the Swadeshi Day celebrated?
A. March 8, 1907 B. 1906 October 31 C. 1907 March 9 D. 1906 October 30

124. prgmies ULNHASTES uflerv Q&siTmeul wiry ?

A. CBBAT BT L) B. uf s @Lomy
C. Gamw #hHy HamImGaHT D. ®8yw Gumerv
Who went to Paris for Military training?
A. Jitendra Nath Banerjee B. Barinder Kumar
C. Hema Chandra Kanungo D. Kudhiram Bose
OuEE srath QErEaID # mpih GEITEUIT §eamEELmIGamD
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125. aigni&eoetr 104 uHN SpsTaRId SabHmISeiled FauDTeng a5l ?
A. 560855 meeL HmeulLL L & B. yeSlearnamifl smerv  HimieNesrmiy
C. gmiyfled (pHeL &CHE QB MeTenSHEMIL HL SIS D. sigiehevemev
Which of the following statements about the Anushilan Samiti is false?
A. Established in Calcutta B. Pulin Bihari Das
C. conducted the first Indigenous policy in Sangpur D. None
126. Mereu(mausTauhmIET HUDMMS! T5H?
I. AiBg BI&HSD SenLWITaTDd STeoliUlL L Lb QLOTSEhESTCHT 6T6iTLSTL Q)
QLT EHFHTCHIT BHTSHSHLD 6T6vTLILI(HLD
Il. QT&ERESTCHT @ 2 WiTHe CLoemLuNed Heir@ HL L AL (B SLLLULL ¢(h HFmoLb
lii. aoyiiur w&seT Qrlenl LUNFL 60 (LpmMenIL NITLHMETTISET LDMHMILD HEUTSHET (LD
66001 (LP6mMEmLLI LILI6STLI(H & S6oT]
IV. anrlur prsflen QFLWDY SmTe0 HTsFeLD
A. i &iii L@ B. ii & iv b @Ld C. il L@ D. iii & iv @b
Which one the following isn’t incorrect?
I. Since Indus civilisation was the first site to be identified in Mohenjadaro, it is also known as
Mohenjo-Daro Civilisation
Ii. The site of Mohenjo-Daro had a planned village, built on a platform.
Iii. Harappans adopted a double cropping system and Also They used binary numbering system
Iv. The Harappan civilisation belongs to the Copper Age civilisation
A. 1 &iiionly B. 11 & ivonly C. iii only D. iii & iv only
127.  Netreu(mseustaubmiet Seummmgi 61817
I. i) Br&f&s ST 1606meVs6T CLMECS FLHTARET-CLIT, HLN&HCE aonjhens, ol &Cs
oA, QHMHECSH eMLOLDMLITG
Il. amriuranNed o 66T 62 SLIgL LD CHLALIL HLMISTSH ML WD STeuiL(BHMSI.
ii. 2 (1p& Heomssmen smafumiseNed HMEEUeLTLD
IV. anrliuT esaNsnearlauT(bTseT QusuGL mseflureNnHd@ gominSuirsrg. @&Qg18)
QOIUIUTONe BLSSHLILL L HSLP6UMIIE| LPeVLD CQHHHMGI.
Al &ivwbL@w B.i,ii,lli &ivoL@w C.ivwl @ D. iii b
Which one of the following is’t incorrect
I. The settlements of Sutkagen-dor in the west ; Shortughai in the East; Alamgirpur in the
North and Daimabad in the south are the boundaries of Indus civilisation.
Ii. In Harappa a building has been identified as a warehouse.
1ii. Ploughed fields have been found at Kalibangan.
Iv. Craft production were exported to Mesopotamia and the evidence for such exported artefacts
have been found from the excavations in Harappan sites.
OE S QS g EHIHEUT §womHELnISImT
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A.i&ivonly B. i, i1, ili & iv only C.ivonly D. iii only
128. QUNBSZIS
I. pwremns seLG6UL (B - a. 21b §HATGUST - 1. ETGmyT
2. QuamQrened @Y &rssar - b. USSGLST - 11. HEUTSH ST RIS
3. §MEp& H6LLGUL (B - C. lib s HTGUST - il ymer
4. Gy T QFuGu® -d. s EHIGLST - IV. @LIpCeHan
A.1djiii 2a,v 3,C,ii 4.h,i
B. 1,d,iii  2,a,ii 3,c,iv 4.h,i
C.1,diii  2,Db,i 3.4, 4,c,iv
D. 1,d,iii  2,c,iv 3,4, 4.b,i
Match the following
1. Prayag Pillar inscription - a. Chandragupta 11 - I. mahattara
2. Mehrauli Iron Pillar inscription - b. Budhagupta - 1. navaratnas
3. The Sanchi inscription - ¢. Chandragupta I. - 1li. Purusha

4. The Damodarpur copper plate

- d. Samudragupta - iv. Kumara Devi

A 1djiii 2a,v 3,C,ii 4.b,i
B. 1,d,iii  2a,ii 3,c,iv 4.b,i
C.1,diii  2,b,i 3.4, 4.c,iv
D. 1,d,iii  2,c,iv 3,4, 4.b,i
129. Meireu(meuaraubmiet SFWMHMS TS
I #UT 61601 G UMM FaMIDd HLAULH - LITWTenS Se0GeUL (B
. LEhEFLOGTL60) 6TEMILD (LD HMieueTHmS GMOLIN(Heug — FMEhE HeLGeUL (h
. SIp&TEHTeT Hevs et CT 2 fleMLDWITENI 61601880 MG - uamMiLF QeuCu®
V. eu6TtN&6G (LDSSET UG SHeMett LimNenl QmHMWSNs GOILNBeUSI - 6L CEMy S0 (B
Al &iii B.ii&iv C. CLom&6i SiemeardGILd D. CLm&6iL ggild @eL6mev
Which of the following is not incorrect
I. Prayag Pillar inscription refers to an assembly which was known as the Sabha
1. The Sanchi inscription mentions the panch-mandali, which may have been a corporate body.
Iii. The Paharpur copper plate inscription indicates that the king was the sole proprietor of the
land.
Iv. The Mandasor inscription indicates the guilds also acted as banks
Al &iii B.ii &iv  C. All of the above D. None of the above
130. smevauflensILBSSIS

1.10medl& evmeyidlent HleLgYl 2. 91606 Sl6tT SHleLED 3.8en8met 4.10M601% SLLIT
S.@eroargern
A.12435 B.53421 C.12345 D.54321
Lay down the time line
1.Malik Jalal-ud-din Khalji 2.Ala-ud-din Khalji 3.Khizr Khan 4.Malik Kafur

Ous e QG agh @EmHEUD §aE@EELmIEI
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5.Khusrau
A.12435 B.53421 C.12345 D.54321
131. QUNBGSHZIS
a. SILJ6L LIT&6D — 1. geod&FHILOT
b. amiBg oG — 2. SISLIHTLOM
C. (pSLOG| &HmerdlLd — 3. umuiy BT
d. SiIUgI6L §&LD smerl-@)-Smevrmest — 4. unGleQ BHTLDT
A.2413 B.2143 C.2431 D.2314
Match the following
a. Abul Fazal — 1. Alamgir Nama
b. Abdul Hamid Lahori — 2. Akbar Nama
¢. Muhammad Kazim — 3. Babur Nama
d. Abdur Rahim Khan-e-Khanan — 4. Padshah Nama
A.2413 B.2143 C.2431 D.2314
132. QUGS
a. FMRIGLD EULDFLD - 1. py&idLoiy
b. #mEpeu eub&LD - 2. anflamiyiy
C. HIEDH6Y QUDEFLD - 3. BISFBMULISSI]
d. sypefp eubed - 4. H(HLMELGC S EUTTULI
A.2143 B.2314 C.2431 D.2134
Match the following
a. Sangama dynasty - 1. Narasimha
b. Saluva dynasty - 2. Harihara
c. Tuluva dynasty - 3. Narasa Nayaka
d. Aravidu dynasty - 4. Tirumala Deva Raya
A.2143 B.2314 C.2431 D.2134
133. gaupns QurGHHWeTeT Hameuhsa CoHia| QFIIS
I. mymum - Q&MELEVMLILL T
Il. 1b ehHIGLIS]T - UTL eSS & LD
Hi. wrgeu oy - Q@aTeLETLIMG,
IV. §1&6né Lofy - Q6L
V. Geormig. LOIJL] - Q&0
A. i, Iv, v L@ B. ii, iii @b
C. il L@ D. Com&6iuiL 6J&ILOI606m6V
OE S QS # g EHIHEUT §womHELnISImT
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Choose the incorrect capital.
I. Tara Bai - Kolhapur
Ii. Chandragupta | - Pataliputra

Ii. Yadhava Kingdom - Daulatabad
Iv. Tughlag Dynasty - Delhi

v. Lodi Dynasty - Agra
A. i, iv, v only B. ii, iii only
C.iionly D. None of the above

134. geaupns QurGHHW TeTang CHija| QFIIS
SITEI]/ULDELD - [HIT6L - QuomLfl
1.21b 4eNGCaHE &mevLd - FLJEUSTLD - FLOAVE(HSLD
1. umesNesf) - LDSMTUTEIQUILD - §LD6N& (HHLD
li. 1ib wCah e - bHHaNOTF LNJ&HEF 6D - L6V E(HGLD
IV. &6torig. - §&@LOMY &g - FLDEMVE(HHLD
V. IOT @6rv(m - Nu Siphr - UM &ESHLD

All&iiol@e B i&ivol@nd C ii&vol@Gd D. Cumssi ggib @edsnsw

Choose the incorrect one

King/Dynasty - Book - Language
I. Pulikesi 11 period - Saptavataram - Sanskrit
ii. Panini - Mahabhashya - Sanskrit
iii. Mahendravarman | - Mathavilasa Prahasanam - Sanskrit
iv. Dandin - Dashakumaracharita - Sanskrit
V. Amir Khusrau - Nu Siphr - Persian

A. i &iionly B.i&ivonly C.ii & vonly D. None of the above

135. gaupnarens Caijey QLIS

A. 21b 4eOIG&H - 9G&MeL &6LGEUL ()

B. ugGoerveuryLoest - galjLb QFELCU(

C. 31b mhH&eurjLoest - Geuepry umsmend QELCUQ®
D. py&LbLoeujLoest - L SLUUL (B 606U (B

Choose the incorrect one

A. Pulakisin 11 - Aihole inscription
B. Parameshwaravarman - The Kuram copper plates
C. Nandivarman 111 - Velurpalayam copper plates

D. Narasimmavarman - Mandagappattu inscription

@Es Sirah QEirETIY # agh @EmHEUD §aE@EELmIEI
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136. Zeupnereneu CaHIHOAHE

LEGaNpTeNsT (PEHIW CHTESLD &SHaTNmL Gl MHMIMLOEMUI 2 6TIILTEHE6USHTGLD
I).Lu@meusTeL LIMILUTHSEHSES gL NPTESHmeT QETEILTHoUS QUDEnS FMIHS
QNLPTEUMT@GLD

iii. "Geuevstr Qe L 1" eNPTeNeTCLTE (LHELEMEL [HEV LDSSET LIGL6UEMS LOCVITSETTED
QSTHSSLULLL LOTEMEVENII {6TTN6NIT

IV. GeuliLgSeng S LOFLOMS eULNILIL L 6 (LpEL6MEL Hl6L &S sTeor GMILILN(Heugl LflumLed

A.iiL il geum) B.iii (B Heumy C.iii,iv eum) D. siemerggid &ifl

Choose the wrong one

I.The main scope of festival is to create unity between people

ii.festival celebrated depending upon weather conditions is also called natural festivals
iii.During " Velanveriyattam" festival mulai land people wore different types of flower
Iv. Mullai land people worshipped neem tree as mother tree -Paripadal

A.ii, i1 wrong B.iii alone wrong C.iii,iv wrong D. All are correct
137. QumBSIS

Hlem6uor -&(menLpm

&Mepd -gmedlesfl elLpm

(LLELEDIGL -Geuev6tt GleumMiwIm_L Ld

LO(H&LD - UIFHI GJ6med

QB 6L - efLpm

L6360 -8 &MhHE)

A.43125 B.23541 C.23514 D.53412

Match the following

Land festival

kurinji -Shalini festival

Mullai - velan veriyattam

Marutham -aichiyar kuravai

Neithal -Navai festival

Palai -Theevaga santhi

A.43125 B.23541 C.23514 D.53412
138. &flwner QEmHADIL ) CHHASHSS

1. ifletT LNGTEMELS T 2 60&HCLD FLOELEMG) 6TTMEUI E(IhEUENT(EMF6LIT

I.uremevhiev &&ET QeETMHMENEU H(HENPTENGHTCLITS| LIGDELMTRIGLI6D D60 & S6dTi)

lii.&moer aNprelsmsr @bHTaNLPT sterr LOEMNCLLEHMeL GOUINGEDS)

IV. Qg 61601858 Hl6tT GLOLIGLDETIT 67637 SNMLNSSLILI(H6UG] LOTELDSS (N

ALV &if) B. siemearggib &if C.i,iv b @b &ifl D.i,ii b @ &M

Ot srah QElrSamh g EHIHEUT §womHELnISImT
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Find the correct sentence

I.Whole world rotated along with plough - statement by Thiruvalluvar

ii.Paalai land people played flute during kotrravai festival

Ii.kaman festival is also called Indiran festival - statement by Manimegalai

Iv.Masi magam festival is also called South India's Kumbh Mela

A.ijii,iv correct B. All are correct C.i,iv correct D.i,ii correct

139. CaupiuL L epsitenm CHIHASG
A.uRi@ef 2 &8y B.&lGaumewond  C.&weundleng Siganpr  D.sneu@emiL g&15E

Find the odd one

A.panguni uttram B.thiruvonam C.thiruvathira festival D.vaikunda yekathasi
140. sapiener YOmiIS

|.YIPGHMELEHMET RH& UMSLILGSSH FamiLieu] ullenev F6ufl CoumisL FmLd

1. (&L GML UM CaHTaNmEL MGG LCHHSNTEUTLD LILEVEU6IT

1.7 EIMHMT6snq 60 LCHHSTEUTLO6T HTeLS 6L SMHMEN HMDSGSLD (MM FHLILL G|

IV.Cougnd QUeT§S FLOUI SLL L &&S6M60 i @GLD

A. SImeTgH gD &Il B.ii,iii,iv &) C.1,ii,iii & D.i,iiiii &ifl

Consider the following statements

I.Mayilai seeni venkataswamy classified beauty into five categories
Ii.The first temple of cave was built by Mahendra VVarma pallava
iii.During 7th century Mahendravarman followed stone temple methods
iv.Vesharam was Buddhism architect technique

A. All are correct B.ii,1ii,iv correct  C.i,ii,iv correct D.i,ii,i1i correct
141. QummSis

ILDT6TLD -L06311& 2 mILiL|

NG &) -560)60

&L, - D@L LD

erogii -LUMSLD

SISIL_L_M6BILD -5IT6L

HyervgiyLd -Ggmer

A.41235 B.42531 C.32415 D.32514

Match the following

Temple aviation human body

pitti -head

sigaram -magudam

sthubi. - feet

Athittanam. - leg

Prastharam -shoulder

A.41235 B.42531 C.32415 D.32514

EuES S QG % g EHIHEUT §womHELnISImT
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142. QgeirenrasHetr CLO@ 6T6HM SMPSHSLILEGLD CaraNedlsir GamLy aNLomeT £ wifLd
A.126 91q B.170 sig C.186 91q D.216 siq

The height of temple aviation for the temple called as "south India's Meru"
A.126 feet B.170 feet C.186 feet D.216 feet

143. Cry wameoulled Gran® GanLcuangsd CarucOaEer seniombgierar GLLb
A.omweveolgd  B. prw&&ed C.2_sw&if D.&p@&wenev

The place where two temple of caves are situated in a single mountain
A.Mamallapuram B.Namakkal C.uthaigiri D.Kalugumalai

144, s@®mUY Heuliy susviewiid L LU L LUTenearser SenL_Sgieter GL_Lb

A.gpd&smeosun B.&Lig C.o&5Cw @ D.Q&misLb

Pots painted with black and red colours was found in

A.Athichanallur  B.keeladi C.Arikkamedu D.Sengam
145. QumBSIs

2l 6UMS. - @LId

umenm epeluid -LDELEVLIMIG.

G60& splLILD -515 & 60T60TEUMTF 60

&GeUGmauLD -&TeMNFILIL LDLIL g 60TLD

HHGCeomailuiLd. - S LILIJRIEG60TMLD

A.1234 B.1243 C.4213 D 4231

Match the following

Type of art. place

Rock drawing. - Mallapadi

Cave drawing. -Chittannavasal

Wall drawing -Kaveripoompattinam
cloth art. - Thiruparankundram

A.1234 B.1243 C.4213 D.4231

146. Meitu(HLD SapHmISET QTS
1.Gumfled yesorul L efjgeseNLLb @@Gh& STiummmLULLL &]
I1.62630T1q.63T 6pem& GLIT6L @\(HLILIG| STLOFLILIGHT
. C&meL &(maNseilstT MU LiGmM
V.05 &6M56mE QDL &6 6T6TLIT
Al &Ml B.iiiiv fl C.iiii,iv &fl D. siemenggid &ifl

Ot s QG gk EEMITEUIN §mEEEELEmSamI
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147.

148.

149.

150.

151.

Consider the following statements

I.Kanchippan was played to save the war hurted people , from ghost .
ii.Beetel music was same as "kamarappan™

Iii. Mother of Dolimme tool was "Parai"(drums)

Iv.Mathalam was middle musical equipment

A.jiijiii correct  B.i,iiiv correct  C.iiii,iv correct  D.All are correct

SOLD Qe HeLaNls HLP&ESHH GFiaiany 6T 2 HaITssd QFuwwiuLL
BT QL mWTSSUIUL L. preosefer cTaneanNsans
A.168 B.188 C.148 D.178

Number of nationalized books digitalised by Tamil virtual academy is
A.168 B.188 C.148 D.178

SaHHin6T Qomiis

I. LAl Lomeul L HLLLomeurgy) CoH A LA gy @pemL0 S GSeT SLD LdMHeL Siemeled

BenL (PeMULGSSULGEDS

I.QUTEILESm6T MWLWILILEGSSH Comeusaman Q-Casmer snLDILIMISHT CLHEVLD QULPRIGUCS @& 6dT
CHBTSHSLOMGLD

Al i & B.i geumy ii &1l C.i gl ii seum) D. @rsa(hd Seum)

Consider the following statements

I. e-district is implemented in state level based on the national e-governance scheme
1i.The main scope of the e-district is to give all the e-services to people on e seva centre
A.iii correct B.i wrong ii correct C.i correct ii worng D.Both are wrong

mEFQI(PLD malsTai(oLd Heancwrhl Qs TG Hmalpm
A. DEMOSLD B.&isHeny sipenor  C. g IQLIGHSES D. amj$5Hens Smeapm

The festival celebrated by both Saiva & Vainavas
A.Mahamagam  B.chithirai festival C.Aadiperukku D.Karthikai thiruvila

wnGenL i LNOBSHT6T &FLOW [HELEOMISS HTamms QasmeuL m_LLGRmsS
A.geusgijeormsd Gm(h B.orgeusnmé C.Qurlwimy D. eomed L&&MT FTarv il

whose birthday is celebrated as religional harmony day
A.Jawaharlal Nehru B.Rajiv Gandhi  C. Periyar D.Lal Bahadur Shastri

@@ & 60 km/h etéitn Symen CoussHHed FTaneouiled QFem Qsnamg BEAMG. SiF6T OIS
alleng

A. & QgeLeID SlenFuled @\(h&GLD

B. arilest Slengs@ 18] HenguNed Q(HEHGLD THILL 6uflengsH@ &FLOLD

CuEp grah QS # iy ISTHIEUID oAU
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C. @@ smiuns eeng
D. uRuWISHMNS &LOLD

A car is running on a road at a uniform speed of 60 kilometre per hour. The net resultant force
of the car is

A. Driving force in the direction of car's motion

B. resistance force opposite to the direction of car's motion

C. An inclined force

D. Equal to zero

152. el simevsst smHNiL QGHSH ST 5SG e (ByLd CuTg WrMILGLD MHSeT wireneu?
A. sismev Berd, HFFCleu6tsr, HengGeusLd B. 918lijQeuetnr, HengCeusLd
C. siemev BerLd, & FCev6sar D. sismev fenld, HengCeusLd
When light waves pass from air to glass the variables affected are
A. wavelength, frequency and velocity B. velocity and frequency
C. wavelength and frequency D. wavelength and velocity
153. &HmISEgLpedes LONS SEheT sTaubDTEd JiLHev L 2 (HUTHDS
A. CO2 & NO2 B.CO & CO2 C.03 & CO2 D. N20 & SO2
Acid rain caused by the pollution of environment by
A. CO2 & NO2 B. CO & CO2 C.03 & CO2 D. N20 & SO2
154. senpgevsefstr oG lsrCermiLLb urwb Curgl ghu@Lb WrHDLD?
A. @Quipiwed wmmHmd B, GCeudlwied mmmLd C.Avmmib B D. @rau@d @evenev
When electricity is passed through the solutions , what happens?
A. Physical changes B. Chemical changes C.BothA&B  D. Neither A Nor B
155. Gevsiflesr LIWLIcHTSH6IT
.2 ey ILmTeng 2 1CHTEHE SefeL
ii. @afuNwied Qemip Q&I QAFHTL LD
. yaN&@Ld HeveysGLd QenL Gl 2 6T6T Q& TEm6VEM6N SETTTHSL
IV. QU en&Hef6T §1&Hme CaTHéHs
A. Liii B. Lii,iv C. ii,iii D. sismeas gl
Applications of laser
I. endoscopy
1. optical telecommunication
iii. to find the distance between the moon and the earth
Iv. to test the quality of objects
A. Ll B. Lii,iv C. ii,iii D. All the above
OuEE srath QErEaID # mpih GEITEUIT §eamEELmIGamD
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156. siuenOuNeb ST HWILILLL. LOSSHASTMELAND 2 6TTem SIGITLLD 61517

A. ANG57 B. EGS77 C. EBS67 D. DBS27

The farthest galaxy group identified recently is

A. ANG57 B. EGS77 C. EBS67 D. DBS27
157. Weireu@meusieuhenm SmBHHDL QBmens

Fgamml: CUTLIMLUBS6T QeUUNeL SHMLILIS SHEUoTeuuliq &6l & LILISTLI(h &6t 6t

Nens&LD: Gl el CUTELIMUBS6IT Y60 LNFEHILENSES L(HLD

A. sampml &1l aNené s &ijl B. sahmi &1l eNenssLd Heum)

C. sahm) Heum eMNen&sD &l D. samm eNenésd Quen(hLd Seum)

Statement: Polaroids are used in sunglasses

Reason: Polaroids reflect sunrays

A. Statement is correct, reason is correct B. statement is correct reason is wrong

C. statement is wrong reason is correct D. both the statement and the reason are wrong

158. Gsmquwib mamL FréHans® LILIciTSH6T

1. QULGHmedwd &&&SHLIL 2. Suiem6uoTLILITedT 3. Gaml 2 mus S
4. Lheor SiLhleL QFEL&ET 2 MLIGE)

gilwmeeumenm C&IHESH(HSS.

A. 1,234 B.1,3 C.23 D. 34

Uses of sodium hydroxide

1. Petroleum refining 2. Fire extinguisher 3. Soap manufacturing
4. To make electrochemical cells

Choose the right ones.

A.1234 B.1,3 C.23 D.34
159. ereu&L_medhsir Hewm

A. 9.109x10% kg B. 1.672x10%"kg C. 9.109x103% kg D. 1.672x10?"kg

Mass of electron

A. 9.109x10% kg B. 1.672x10%’kg C. 9.109x103 kg D. 1.672x10?"kg
160. sibevLd CLPEVLD

a.umjyLhlé oiblevld 1.&yrleng

b. 21196 bevLD 2. Ggefssafsr QaTHES

C. Cemevs LflevLd 3. LiNerm

d.LmyLmflé sifeold 4. eNeN&iy

EuES S QG # Mg EEFHTEUTT §wamAUmEamh
el cut@unmh 5 @8 SI0LURNLOE Ry)
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Al 2 3 4
B2 4 31
C4 21 3
D31 2 4
Acid Source

a. Formic acid 1. Grapes

b. Acetic acid 2. Sting of bees
c. 